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I 
y(t)=x(t)*y(t) (* is the convolution) 

%Check for problem 2.8 

%defining input signal x(t) 
tl=-3:O.l :O; 
x l  =zeros(l ,length(tl)); 
t2=0:0.1:1; 
x2=t2+1; 
t3=1:0.1:2; 
~3=2-t3; 
t4=2:.1:3; 
x4=zeros(l Jength(t4)); 
t=[tl t2 t3 t4]; 
x=[xl x2 x3 x4]; 
figure(l), plot(t,x) 

%defining impulse response function h(t) 
sl=-3:.1:-2; 
s2=-2:O.l:-1; 
~3=-1:0.1:3; 
h=[zeros(l ,length(sl )-1 ) 1 zeros(1 ,length(s2)-1) 2 zeros(1 ,length(s3)) 1; 
s=[sl s2 s31; 
figure(2), plot(s,h) 

%calculate the convolution between x(t) and h(t) 

y=conv(x, h); 
w=l :length(y); 
w l  =(w-63)'. 1 ; 
figure(3), plot(w1 ,y) 


